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Section : General Knowledge

Q.1 Which of the following leaders did NOT participate in the 1857 Mutiny, which is

called the First War of Indian Independence?
Ans | x 1. General Bakht Khan
« 2. Alluri Sitarama Raju
x 3. Nana Saheb

x 4. Kunwar Singh

Q.2 Which of the following countries assumed the chairmanship of BRICS in 20247
Ans 1. Russia

x 2. India

x 3. South Africa

x 4. Brazil

Q.3 Match the following organisations with the years in which they were founded.

a. Arya Samaj i. 1828

b. Rama Krishan Mission ii. 1873
c. Satyashodhak Samaj iii. 1875
d. Brahmo Samaj iv. 1897

Ans | x 1. a-iv; b-i; c-iii; d-ii
x 2. a-i; b-ii; c-iii; d-iv
« 3. a-iii; b-iv; c-ii; d-i

x 4. a-ii; b-iv; c-i; d-iii
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Q.4 The National Education Policy was framedin __ and first modified in

Ans  x1.1984; 1995
x 2.1982; 1991
x 3.1980; 1992

v 4.1986; 1992

Q.5 The 2011 Census data reveals that , with a population of 199 million, is the

most populous state in India.
Ans  x 1.Bihar
¥ 2. Maharashtra
x 3. Rajasthan
« 4. Uttar Pradesh
Q.6 Which Indian defence organisation developed a high-pressure nanoporous

multilayered polymeric membrane for seawater desalination, addressing the

operational needs of the Indian Coast Guard in 2025?
Ans | 1. Defence Research and Development Organisation
x 2. Hindustan Aeronautics Limited
x 3. Indian Space Research Organisation
X 4. Bharat Heavy Electricals Limited
Q.7 Which of the following was the first Telugu dynasty to rule South India for more
than 400 years?
Ans | 1. Satavahana dynasty
X 2. Rashtrakuta dynasty
x 3. Bahmani sultanate

x 4. Kakatiya dynasty
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0.8 Which of the following statements is INCORRECT with respect to the Indian

Parliament?
Ans | x 1. The President can summon and prorogue the Parliament.
« 2. The first elected Parliament came into existence in April 1954.
x 3. The Parliament is a legislative body at the Union level.

x 4. The Parliament has two houses.

Q.9 Which of the following regions is known for its geothermal energy project?
Ans  x 1.Kangra Valley

x 2. Gulf of Kutch

x 3. Ganga valley

« 4. Puga Valley

Q.10 In the Indian Parliament, the proceedings of the Parliament begins with the

Ans x 1.zero hour
« 2. question hour
x 3. discussion hour
x 4. welcome hour
Q.11 Under the PM Vidyalaxmi scheme launched in November 2024, how much
maximum loan amount will be provided to meritorious students?
Ans 1. Upto7.5 lakh
X 2. Upto 4.5 lakh
x 3. Upto ¥5.5 lakh

x 4. Upto 8.5 lakh

Q.12 Who was the Viceroy of British India during the Government of India Act 1919?
Ans  x 1. Lord Morley

« 2. Lord Chelmsford

X 3. Lord Montagu

X 4. Tord Minto
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Q.13 In 2019, the total number of judges in the Supreme Court was fixed at ___,
including the Chief Justice of India.

Ans  x1.25
x2.27
x3.30

v4.34

Q.14 In which state is the Kamet peak located?
Ans | x 1. Maharashtra
x 2. Kerala
x 3. Sikkim
« 4. Uttarakhand
Q.15 During the 2025 World Health Assembly in Geneva, which of the following major
global health developments took place?
Ans | x 1. Launch of the One Health Initiative
x 2. Establishment of the International Public Health Court
« 3. Adoption of the world’s first global pandemic treaty
x 4. Adoption of the Global Antimicrobial Resistance Framework
Q.16 What was the objective of the ‘Lok Samvardhan Parv’ inaugurated by the Union
Minister of Minority Affairs?
Ans | x 1. To promote traditional art under tribal development programmes
« 2. To showcase achievements of the Ministry under the 100 days’ plan
x 3. To provide free health check-ups to minority communities
x 4. To launch new educational scholarships for women and children
Q.17 Which Article of the Indian Constitution mentions that the Money Bill shall NOT
be introduced in the Council of States?
Ans »1.109
x 2.108
x 3. 111

x 4.110
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Q.18 In which State of India is Karaivetti Bird Sanctuary located?

Ans  x 1. Madhya Pradesh
x 2. Gujarat
« 3. Tamil Nadu

x 4. Maharashtra

Q.19 Which of the following battles was won by Lord Clive over the Nawab of Bengal in
175772

Ans  x 1. Battle of Buxar
x 2. Battle of Murshidabad
x 3. Battle of Arcot
« 4. Battle of Plassey
Q.20 Who among the following was appointed as the new head coach of the Indian
Men's Cricket Team in July 20247
Ans | 1. Gautam Gambhir
x 2. Ravi Shastri

x 3. Rahul Dravid

x 4. Ajit Agarkar

Section : Logical Reasoning

Q.21 What will come in the place of the question mark (?) in the following equation, if

‘+’and ‘-’ are interchanged, and x’ and ‘<’ are interchanged?

20+5-32x4+6=7?
Ans »1.102

x 2.162

x 3.142

x 4.132
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Q.22 Select the option figure that will replace the question mark (?) in the figure

given below to complete the pattern.

7]
S,

Ans 1.

/)
/)

Q.23 Refer to the following number series and answer the question that follows. (All
numbers are single-digit numbers only.)
(Left)153728496137542896371549826 (Right)

How many times does the number ‘5’ appear in the given series?
Ans 1. Three

x 2. Two

x 3. None

x 4. Four
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Q.24 Based on the English alphabetical order, three of the following four letter-

clusters are alike in a certain way and thus form a group. Which letter-cluster

DOES NOT belong to that group?
(Note: The odd one out is not based on the number of consonants/vowels or

their position in the letter-cluster.)
Ans 1. DHE
x 2. ORP
x 3.SVT

x 4. BEC

Q.25 If 1is added to each odd digit and 2 is subtracted from each even digit in the
number 1783426, then what will be the product of the digits which are second

from the left and third from the right in the new number thus formed?

Ans x1.18
x2.14
& 3. 16
x4.12

Q.26 NG 13 is related to Ol -1 in a certain way. In the same way, FL 19 is related to GN

5. To which of the given options is Ul 22 related, following the same logic?
Ans  x1.VL12
x 2. UL 12
v 3. VK8

x 4. UK 8
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Q.27 Three of the following four word-pairs are alike in a certain way and thus form a

group. Which word-pair DOES NOT belong to that group?

(NOTE: The words must be considered as meaningful English words and must not
be related to each other based on the number of letters /number of

consonants/vowels in the word.)
Ans  x 1. Active: Lazy
x 2. Beautiful : Ugly
« 3. Bitter : Sour

x 4. After : Before

Q.28 Each vowel in the word NEWSPAPER is changed to the letter immediately
following it in the English alphabetical order and each consonant is changed to
the letter immediately preceding it in the English alphabetical order. How many

letters will appear exactly twice in the group of letters thus formed?

Ans x 1. None

« 2. Two

x 3. Three

x 4.0ne

Q.29 JUMPER is related to QFNKVI in a certain way based on the English alphabetical
order. In the same way, COLLUSION is related to XLOOFHRLM. To which of the
given options is MARKET related, following the same logic?

Ans  x 1. NZIPUG
X 2. NAIPVG
¢ 3. NZIPVG

X 4. NZRPVG
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Q.30 Six people U, V, W, X, F and G are sitting around a circular table facing the centre
of the table. Only V sits between G and W. W sits third to the left of U. F sits to

the immediate left of U. How many people sit between X and F when counted
from the right of F?

Ans 1. Four
x 2. Three
x 3.0ne

x 4. Two

Q.31 What should come in place of the question mark (?) in the given series?

153253811137
Ans  x 1.150

x 2.153

x 3. 151

@ 4.152

Q.32 What should come in place of the question mark (?) in the given series?

32,37,47,62,82,7?
Ans x1.108

x 2.109

 3.107

x 4.106
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Q.33 Refer to the following number series and answer the question that follows. (All
numbers are single-digit numbers only.)
(Left)153728496137542896371549826 (Right)

How many times do two or more perfect square numbers appear immediately

next to each other in the given series?
Ans 1. Two

x 2. Four

x 3. None

x 4. Three

Q.34 There are six members in a family - P, Q, R, S, T, and U.
Q and R are married. S is the only son of R. R is the son of U. U is the husband of
P. T is the mother of U.
How is P related to T?

Ans . 1.Son’s wife
x 2. Wife
x 3. Mother
x 4. Daughter

Q.35 Select the set in which the numbers are related in the same way as are the

numbers of the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such
as adding/subtracting/multiplying etc. to 13, can be performed. Breaking down
13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not

allowed.)

(7,3, 15)
(8, 8, 21)

Ans  x1.(8,12,22)
x 2.(12,4,23)
x 3.(26,5, 61)

v 4.(4,18,27)
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0.36 If ‘R’ stands for ‘=, ‘'S’ stands for ‘x’, ‘T’ stands for ‘+’, and ‘U’ stands for ‘-, then
the resultant of which of the following would be 1127

Ans x1.64R2U16T8S4
x2.96STR3U24T4
«3.80T40U8S2R2
x4.70U38T10R2S1
Q.37 In the following number-pairs, the second number is obtained by applying
certain mathematical operations to the first number. Which numbers should

replace X and Y, so that the pattern followed by the two numbers on the left side

of :: is same as that on the right side of ::?

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into their constituent digits. E.g. 13 — Operations on 13 such
as adding/subtracting/multiplying to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not

allowed.)

X:127 ::56:Y
Ans  x1.X=41Y=168
¢ 2.X=42,Y =169
x3.X=42,Y=157
x4.X=32,Y=167

Q.38 Refer to the following number series and answer the question that follows. (All

numbers are single-digit numbers only.)
(Left) 447524798326958498245592 838 (Right)

If all the odd numbers are dropped from the series, which number will be second

from the right?
Ans »1.8
x 2.6
x3.2

x4.4
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Q.39 SQ121is related to NL220 in a certain way. In the same way, I1G198 is related to
DB297. To which of the given options is LJ299 related, following the same logic?

Ans  x 1.GF397
v 2. GE398
x 3.FD398

x 4. FH397

Q.40 U,V, W, X, and Y are sitting on a bench, facing north. U and V are immediate
neighbours. W and X are immediate neighbours. V and X are immediate
neighbours of Y, while Y sits to the immediate right of X.

Who sits on the extreme right end of the bench?

Ans x 1.V
v 2. U
x3. W

x4.X

Section : General English and Comprehension

Q.41 Select the option that can be used as a one-word substitute for the given group

of words.

The art of beautiful handwriting
Ans | x 1. Cacography
« 2. Calligraphy
x 3. Cartography

x 4. Choreography

Q.42 Select the most appropriate option to fill in the blank.

Hiking is difficult fun.
Ans | x 1. therefore

X 2.50

x 3.0r

« 4. but
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Q.43 Select the most appropriate synonym of the given word.

Eternal

Ans  x 1. Fleeting
x 2. Temporary
x 3. Fragile

« 4. Enduring

Q.44 Select the most appropriate option to fill in the blank.

She  to school every day.
Ans x 1.gone
x2.80
« 3. goes
x 4.going

Q.45 Select the most appropriate meaning of the given idiom.

Back to square one
Ans | x 1.0ne should be aware of a potential danger to protect oneself
x 2. When one is in a difficult situation
x 3. When one plans to do something because of the other plan

« 4. When one takes a new course of action after a failed one
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Power foods are foods that provide rich levels of nutrients such as fibre, potassium, and
minerals. With people becoming increasingly health-conscious today, a lot of fitness
trainers encourage their clients to include these foods in their daily diet to increase
muscle development. There are various ways of incorporating power foods into your daily
diet. Of course, the key to enjoying power foods is proper preparation of these foods, the
use of seasonally fresh foods, and identifying your choice of flavour among power foods.
Some of the recommended power food combinations are those that are prepared in our
kitchens on a regular basis. Take for instance, the combination of chickpeas and onions.
This combination is a powerful source of iron, which is required by the body to transport
oxygen to its various parts. Iron deficiency can lead to anaemia, fatigue, brain fog, and

tiredness.

SubQuestion No : 46
Q.46 Why is iron required by the body?
Ans | x 1. To strengthen bones and teeth
% 2. To aid in the digestion of food
« 3. To transport oxygen to its various parts

x 4. To regulate blood sugar levels
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Power foods are foods that provide rich levels of nutrients such as fibre, potassium, and
minerals. With people becoming increasingly health-conscious today, a lot of fitness
trainers encourage their clients to include these foods in their daily diet to increase
muscle development. There are various ways of incorporating power foods into your daily
diet. Of course, the key to enjoying power foods is proper preparation of these foods, the
use of seasonally fresh foods, and identifying your choice of flavour among power foods.
Some of the recommended power food combinations are those that are prepared in our
kitchens on a regular basis. Take for instance, the combination of chickpeas and onions.
This combination is a powerful source of iron, which is required by the body to transport
oxygen to its various parts. Iron deficiency can lead to anaemia, fatigue, brain fog, and

tiredness.
SubQuestion No : 47
Q.47 Who encourages their clients to include power foods in their daily diet?
Ans  x 1. Nutritionists
» 2. Doctors
« 3. Fitness trainers

x 4. Dieticians
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Power foods are foods that provide rich levels of nutrients such as fibre, potassium, and
minerals. With people becoming increasingly health-conscious today, a lot of fitness
trainers encourage their clients to include these foods in their daily diet to increase
muscle development. There are various ways of incorporating power foods into your daily
diet. Of course, the key to enjoying power foods is proper preparation of these foods, the
use of seasonally fresh foods, and identifying your choice of flavour among power foods.
Some of the recommended power food combinations are those that are prepared in our
kitchens on a regular basis. Take for instance, the combination of chickpeas and onions.
This combination is a powerful source of iron, which is required by the body to transport
oxygen to its various parts. Iron deficiency can lead to anaemia, fatigue, brain fog, and

tiredness.

SubQuestion No : 48

Q.48 Select the most appropriate ANTONYM of the given word.

Provide
Ans x 1. Furnish
« 2. Reserve

x 3. Pursue

x 4. Supply
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Power foods are foods that provide rich levels of nutrients such as fibre, potassium, and
minerals. With people becoming increasingly health-conscious today, a lot of fitness
trainers encourage their clients to include these foods in their daily diet to increase
muscle development. There are various ways of incorporating power foods into your daily
diet. Of course, the key to enjoying power foods is proper preparation of these foods, the
use of seasonally fresh foods, and identifying your choice of flavour among power foods.
Some of the recommended power food combinations are those that are prepared in our
kitchens on a regular basis. Take for instance, the combination of chickpeas and onions.
This combination is a powerful source of iron, which is required by the body to transport
oxygen to its various parts. Iron deficiency can lead to anaemia, fatigue, brain fog, and

tiredness.
SubQuestion No : 49
Q.49 What are power foods rich in?
Ans | x 1. Processed ingredients and artificial flavours
« 2. Fibre, potassium, and minerals

x 3. Sugars, fats, and carbohydrates

x 4. Proteins, vitamins, and antioxidants
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Power foods are foods that provide rich levels of nutrients such as fibre, potassium, and
minerals. With people becoming increasingly health-conscious today, a lot of fitness
trainers encourage their clients to include these foods in their daily diet to increase
muscle development. There are various ways of incorporating power foods into your daily
diet. Of course, the key to enjoying power foods is proper preparation of these foods, the
use of seasonally fresh foods, and identifying your choice of flavour among power foods.
Some of the recommended power food combinations are those that are prepared in our
kitchens on a regular basis. Take for instance, the combination of chickpeas and onions.
This combination is a powerful source of iron, which is required by the body to transport
oxygen to its various parts. Iron deficiency can lead to anaemia, fatigue, brain fog, and

tiredness.

SubQuestion No : 50
Q.50 Which of the following can be the suitable title for the passage?
Ans | x 1. Fitness and Diet: A Trainer's Guide to Muscle Development

x 2. Simple Steps to Prepare Delicious and Healthy Meals

x 3. The Importance of Iron in Our Daily Diet

« 4. Unlocking the Power of Nutrient-Rich Foods

Section : General Hindi and Comprehension
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0.51 I JAT U ud' ebifte & 379 &-

Ans | x 1.U% I AT P SRTaR
x 2. Tt AT UHAA T B

¢ 3. IGH UHHA ghR BT B &

X 4. T Hd I & SRR

Q.52 ‘R da 3ieRT ATBIRE BT T 37 &2

Ans | 1. 919 &I AT fears 9 gsHl

X 2. 8 WP 31eRT g
x 3. 378R T R ST
x 4. QT &1 & I Tl

0.53 "V BT faclim o= T &-
Ans 1.cRcT

x 2. fadbrof

x3.2d

x 4. a1

Q.54 '3icugl &I faeli ag gl -
Ans 1. dgs
X 2. 7Y
x 3. 378
x 4. 37T
Q.55 fpdr &1 3RId ¥4 R =19 § 13-
Marer 3 37 --- f&Am
Ans | x 1. el
@ 2. 30T
X 3. 300

x 4. 30T
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Comprehension:

f&T 7T Terier & 3memR 9 Agifed g4t & 3t Ifsre--

ciepda BT Sig I PR AN A Y& §3T| 3RIJ A b b JIMd TR BI IdH AT &
A &b PR A H TA dlrbdd o1l ot = Afeh 370 F91 ¥ U &, BT 9-1d 31 378 o],
B A AR & YT BIel A & MUIdIHS a8 81 Jai foresdl, ol 31 T 31 Jeard
et &1 el & THY AT LA 37 Blet bl IS faQivdr &t s1ef a7 31 & 3ot 59 gbg
AR AT Faell A BT §Id 3R 9 B A1 7eF T H Y. A Bl 54 g2ell b PR
T H g3 RACSRAIUS & BRI bl B off gyl cliepda o1 5 3157 o 1 37orevdl i) ¥ &1
5 TR b AHF BT FHY BT 1| T AT 372/aT YTAFIETHS b=l T gR1 T M|

SubQuestion No : 56
0.56 ¥ fFd UPR & elbdd Bl 37T W4T o--
Ans  x 1.303dA
¢ 2. T8 Al
x 3. AU Abdx

x 4. ufafaerdars eidbdas

Comprehension:

f&U 7T Terier & 3memR 9 Agifed y4f & 3t <Ifre--

e BT g I $ TR I A Y& §IT| 3R¥ A b b FIMd WK BI IdH HIAT &
A & PR A H TA& b o1l Jft I Afeh 30 F9T & U &, BI-17 9-7d 37K 38 o]
B A1 qRT & YT BIel A & MUIdiHe a1 I8 &1 Tai forsdl, domel 31 T 31 Jeerd
et &1 el & THY AT LA 37 Blet bl IS faQvdn &t el w7 [ & 3ot 59 gbg
AR AT Faell A HITT §1d 3R 9 B A1 7eF T | GF: eAbad Bl 54 g2ell b PR
I 7 g3 RACSRAIUS & BRI bl H off Taef cliepda o1 51 3157 o 81 37erevdl o) ¥ &1
5 TR b MHF BT FHY BT A1 T AT S 372/aT YTAFIETHS cliepd=l T gR1 T M|

SubQuestion No : 57

Q.57 @ddd & sfae™ &1 YR el A HIAT T bl o--

Ans | 1. ZAA S PRI A

x 2. RGesReUg & BR¥E b I
x 3. qIRd & J2ATelt 37 IToRT=A I

x 4. el & WY [T I
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Comprehension:

f&T 7T Terier & 3memR 9 Agifed g4t & 3t Ifsre--

e BT S I PR AN A Y& §IT| 3RIJ A b b JIMd TR BI IdH AT &
A &b PR A H TA dlrbdd o1l ot = Afeh 370 F91 ¥ U &, BT 9-1d 31 378 o],
B A1 AR & YT BTl A & NS a8 &1 Jai forsdl, o 31 T 31 Jeerd
et &1 el & THY AT LA 37 Blet bl IS faQivdr &t s1ef a7 31 & 3ot 59 gbg
AR AT Tael A HILT §Id 3R o B A1 7eF T H Y. oAb Bl 5H g2ell b PR
T H g3 RACSRAIUS & BRI bl B off gyl cliepda o1 5 3157 o 1 37orevdl i) ¥ &1
5 TR b AHF BT FHY BT 1| T AT 372/aT YTAFIETHS b=l T gR1 T M|

SubQuestion No : 58

0.58 19 ¥ & yI&l &l faeld 9I=x 8--
Ans  x 1. 3998

X 2. aucg el

x 3. fagcaer

@ 4. 3

Comprehension:

f&Q 31U STerier & 3meR 4R Fgifed g4 & 3T fSe--

e Bl SfAer I & PR AN F Y& FHT| 3RIG A clicbeia b JAMA JRT I 37 A 2l
AT P TR AN H el elidpad 2411 9ol I Afch 30 F9T § ThA @i, BT §1d 3R 378 o]
B A 9IRA § 9T BIa I & ToTdie Fawt I8 &1 Jet fresdy, dereft S T B 3
fAetdr 81 el & THY WAT-Y IGAT 39 Brdd bl HIS! faQivar o sef w7 I ¥ Joft g9 gbg
BRI Feeh A SBIH a1d 3R o3 BId A1 7eF T H YA: clicbds Bl 51 3ol b PR
IT H g31T1 RICSRAAUS & BRI bl B off Tyl elied o1 5 31757 o 81 37ererd! sy ¥ 1
S TR b AT BT FHY BT 1| FH AT S 372/al YTAETHS e I g1 HdT M|

SubQuestion No : 59
0.59 3R] A B I Yoielt &) gaiad 7T &--
Ans | x 1. 3BT
@ 2. B
Y ERIEGE]
x 4. eHdT
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Comprehension:

f&T 7T Terier & 3memR 9 Agifed g4t & 3t Ifsre--

e BT S I PR AN A Y& §IT| 3RIJ A b b JIMd TR BI IdH AT &
A & PR A H TA dlibdd 1| At I Afeh 370 F91 ¥ U &, BT 9-1d 31 378 o]
B A ARA F I Bl F & OT0TdiED FaReT I &1 I for<edl, deimelt M T B Jeoid
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SubQuestion No : 60
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Section : Basic Knowledge of Computer

Q.61 In MS PowerPoint, how can you align text within a text box?

Ans | x 1. By applying custom animations to the text
x 2. By dragging the text box to a different position on the slide
x 3. By using the 'Slide Master' view

« 4. By selecting the text and choosing alignment options from the Home tab



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Q.62 In MS Word, you need to perform advanced text editing on a large document.
This includes finding and replacing specific text with different formatting as well
as using special characters and wildcards. Which of the following steps should

you follow to achieve this?
Ans | x 1.Go to the File tab, select Options, and enable advanced text editing features.

« 2. Go to the Home tab, select Replace, click More in the Find and Replace dialog box,

and use Format and Special options along with wildcards.

x 3. Go to the Home tab, select Find, and use the Replace option to change text and

formatting.

x 4. Go to the Review tab, select Advanced Find, and use the Replace option to change

text and formatting.

Q.63 What does the term 'latency’ refer to in a WAN context?
Ans  x 1. The amount of data that can be transmitted

x 2. The speed of the network

x 3. The security of the network

« 4. The delay between sending and receiving data

Q.64 What happens when an email in the Outbox is successfully sent?
Ans  x 1. It remains in the Outbox indefinitely.
x 2. 1t moves to the Trash folder.
x 3. It is automatically deleted.
« 4. It moves to the Sent folder.
Q.65 Which of the following protocols is commonly used to retrieve emails from a
mail server?
Ans x 1. FTP
x 2. HTTP
x 3. SSH

v 4. POP3
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0.66 __ is commonly used for storing audio data, such as music tracks or audio
recordings.
Ans x 1. PDF
x 2. JPEG
v 3. MP3
x 4. XLSX

Q.67 Which of the following steps should be followed to print the current spreadsheet
in MS Excel?

Ans x 1. Edit > Print
« 2. File > Print
x 3. View > Print

x 4. Format > Print

Q.68 Which of the following does cyber security NOT offer as a benefit?
Ans x 1. User privacy

« 2. Slowing down the system

¥ 3. Minimising crashes

x 4. Protection against viruses

Q.69 InanMs Word document, which of the following settings is NOT present in Section Break?

Ans  x 1. Odd Page
« 2. Common Page
X 3. Even Page
X 4. Next Page
Q.70 Rahul entered his date of birth, 14 Feb 2009, in an MS Excel cell. He mistakenly

changed the type of cell in the Format Cells option to General. What will the cell
display now?

Ans | x 1. Any random number
« 2. Number of days elapsed since 01 Jan 1900
» 3. Number of days elapsed since 01 Jan 2009

x 4. Error
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Q.71 What is the purpose of using 'Section Breaks' in MS Word 2019?
Ans x 1.To highlight text

x 2. To add bullet points

« 3. To divide the document into sections for different formatting

x 4.To insert a new page

Q.72 Which of the following measures is essential for securing a PC and protecting it

from cyber threats?
Ans | x 1.0nly using the computer during daytime hours
x 2. Connecting to open Wi-Fi networks for easy internet access
« 3. Using strong, unique passwords for different accounts and changing them regularly

x 4. Disabling the firewall to increase system performance

Q.73 Which of the following is a characteristic of the Linux operating system?
Ans  x1.Itis a closed-source operating system.
« 2. It is known for its stability and security.
x 3.1t is based on the Windows kernel.
x 4. 1tis primarily used on Apple computers.
Q.74 Where can a user pin frequently used applications for quick access in MS
Windows 107
Ans | x 1.System Properties
x 2. Control Panel
« 3. Taskbar
x 4. Device Manager
Q.75 Which of the following keyboard shortcuts is used for moving the cursor one
word to the left in an MS Word document?
Ans | x 1. Fn+Left arrow key
x 2. Shift+Left arrow key
x 3. Alt+Left arrow key

« 4. Ctri+Left arrow key
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Q.76 Which of the following is a small graphical representation of a computer

application on the desktop?
Ans  x 1. Notification
« 2. lcon
x 3. Taskbar

x 4. Start button

Q.77 Discarded emails are stored in which folder?
Ans  x 1. Drafts folder
x 2. Sent folder
« 3. Trash folder
x 4. Spam folder
Q.78 Which of the following options in MS Word is used to align a paragraph to both,
the left and right margins?
Ans  x 1. Left
x 2. Right
x 3. Center
« 4. Justify
Q.79 Which tab is to be used to change the template of an existing MS PowerPoint
presentation?
Ans x1.Home
« 2. Design
x 3. Transitions

x 4. Insert
0.80 What is the default font and font size in an MS Word 2010/11 document?
Ans 1. Font = Calibri and Font Size = 11

X 2. Font = Times New Roman and Font Size = 12

X 3. Font = Calibri and Font Size = 12

X 4. Font = Times New Roman and Font Size = 11

Section : Quantitative Aptitude
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Q.81 The present ages of S and T are 70 years and 50 years, respectively. How many

years ago was the ratio of their ages 11: 7?
Ans  x1.18
v 2.15
x3.14

x4.12

2x—1
0.82 1f4x — 45— 1 = 48, then the value of = 1s:
2x4+3
Ans  x 1. 3
6
w22
9
x 3. 3
8
x 4. 5
12

Q.83 The average of the marks of 15 students in a class is 46. If the marks of each

student are doubled, find the new average?
Ans »1.92

x 2.30

x 3.46

x4.15

Q.84 The average of 24 numbers is 75. The average of the first 12 numbers is 72 and

the average of the last 13 numbers is 80. If the 12th number is excluded, then

what will be the average of the remaining numbers (rounded off to two decimal

places)?
Ans »1.73.74

x 2.75.68

x 3.74.82

x 4.76.24
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0.85 IfV/3 = 1.732, then find \/75.
Ans x1.6.88

x 2.8.96

v 3. 8.66

x 4.9.68

Q.86 Arindam purchased a coat for ¥2,100 after getting a discount of 20% but then

paid GST at a rate of 5% on the discounted price. Find the marked price of the
coat.

Ans  1.2,500
x 2.32,480
x 3.32,520

x 4.32,490

Q.87 3 years ago, the average age of A, B, and C was 32 years. 3 years from now, the

average age of A and C will be 43 years. What will be the age (in years) of B, 4
years from now?

Ans  x 1. 31
x 2.30
x3.25

v 4.29

Q.88 The length of a rectangle was decreased by 20%. If its breadth is increased by
35%, then by what percentage will the area of the rectangle change?

Ans | x 1.8% decrease
« 2. 8% increase
x 3.10% increase

x 4.10% decrease
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Q.89 In an election of 3 candidates, Alice, Bob, and Charlie, Alice gets 50% more votes
than Bob. Alice beats Charlie by 72,000 votes. Bob gets 20% more votes than
Charlie. 80% of the total voters on the voting list cast their votes, and no votes

were illegal. Find the total number of voters on the voting list.
Ans  x1.4,36,000
x 2.4,23229
x 3.4,23329

« 4.4,50,000

Q.90 A man spends 64% of his income. If his income increases by 25% and his
expenditure increases by 10%, then what is the percentage increase (rounded off

to the second place of decimal) in his savings?

Ans  x1.57.67%

v 2.51.67%
x 3.53.67%
x 4.56.67%
Q.91 A man can row a boat upstream at 8 km/hr and downstream at 12 km/hr. Find

the ratio of the speed at which the man can row the boat in still water to the

speed of the current.
Ans x1.2:5
x2.5:2
x3.1:5

v4.5:1

Q.92 If 4% of x = 240, then x is equal to:
Ans x1.12000

x 2. 6100

x 3.12100

¢ 4.6000
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Q.93 The original price of a music set is ¥8,100. The price is discounted by 12% and
then raised by 25%. What is its new price (in ¥)?

Ans  x1.8410
v 2.8910
x 3.9,410

x 4.8210

Q.94 A boat can run with a speed of 13 km/hr in still water. If the speed of the stream
is 4 km/hr, then find the time taken by the boat to cover 68 km downstream.

Ans ,1.4h
x2.5h
x3.3h
x4.2h
Q.95 A small pipe fills up a tank in 6 hours, while a big pipe works 50% faster. If there
are 3 small pipes and 2 big pipes, how long will it take to fill up the tank?
Ans x 1.40 minutes
% 2.1 hour 20 minutes
« 3. 1 hour
x 4.30 minutes
Q.96 A shopkeeper lists the price of a fan at 50% above its cost price and offers a

29% discount on its list price. If he earns a profit of ¥195, then what is the list
price (in ¥) of the fan?

Ans  x1.4,460
¢ 2.4,500
% 3.4,380

x 4.4,525
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Q.97 Simplify v162+ v288+ v18— V242

Ans  x 1. 10@
v 21342
X3 122

X4 112

Q.98 Which of the following fractions is the largest?

5 9 39 53
8" 23" 72" 54
Ans 1. 39
72
,2. 93
54

x3 2
23

x4. 5
8

Q.99 Find the single percentage discount [corrected to 1 decimal] equivalent to three

successive discounts of 83%, 64%, and 79% respectively.
Ans 1. 9879
X 2. 90.2%
X 3. 98.1%
X 4. 88.9%
Q.10 Lewis, Michael, and Charles can finish a certain piece of work in 8, 46, and 24
0 days, respectively. All three of them started the work together. Lewis left the

work after 2 days and Michael left just 4 days before the work was completed.

Find the total number of days taken for the work to be completed.
Ans  x1.8.7
x2.12.4
v 3.132

x 4.3.9
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